


In A Plant Cell, Which One Of The Following Contains 

Their Own DNA?
a) Nucleus and Endoplasmic Reticulum

b) Ribosome and Golgi apparatus

c) Mitochondria and Chloroplast

d) Chloroplast and Vacuoles
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Which Of The Following Organelles Shows Similarity To A 
Prokaryotic Cell?
a) Mitochondria only

b) Chloroplast only

c) Both chloroplast and mitochondria

d) None of the above
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Plasma Membrane Is Made Up Of Which Organic
Molecules?
a) Carbohydrates

b) Vitamin

c) Lipids and protein

d) Roughage
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The glycolysis is a common pathway for 
aerobic and anaerobic respiration and no 
oxygen O2 is consumed during this 
process.
Therefore, the number of oxygen 
molecules required during glycolysis of 
one glucose molecule is ''Zero''
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the light reaction of photosynthesis?
a) photolysis of water

b) reduction of carbon-di-oxide

c) photophosphorylation

d) reduction of NADP
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The following major events occur during the light 
reaction of photosynthesis:
Photolysis of water: In this water splits into protons, 
electrons and oxygen and produces NADPH and ATP.
Photophosphorylation: The process through 
which, ATP is synthesized from ADP and inorganic 
phosphate (P) by the cell organelles (like 
mitochondria and chloroplast).
Reduction of NADP: NADP is a reduced in the 
photosynthesis light reactions that is consumed in the 
Calvin cycle and used in many other anabolic 
reactions in both plants and animals.



In The Context Of Respiration, The Stage Known As 
Glycolysis Involves The Breaking Down Of _______ To 
Pyruvic Acid.

a) lactic acid

b) fructose

c) citric acid

d) glucose
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b) Naphthalene acetic acid

c) Ethidium bromide
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• Anti-transpirant
are chemical 
compounds applied 
to the leaf 
surfaces of plants 
to reduce or check 
transpiration.
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Water And Minerals From The Soil?
a) Gravitational force

b) Transportation force
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• During the process of 
transpiration, water evaporates from 
the surface of a leaf via microscopic 
pores i.e. stomata.

• The loss of water creates a suction 
force that pulls up more water and 
minerals from the soil.



Which Of The Following Polysaccharides Is Also 
Known As Animal Starch?
a) Starch
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c) Glycogen
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Number Of ATP Molecules Produced On Complete 
Breakdown Of Pyruvic Acid Molecules In Presence 
Of Oxygen:
a) 24

b) 15

c) 38

d)30

Two molecules of Pyruvic acid are 
formed during Glycolysis of one 
glucose molecule, the total 
number of ATP molecules 
produced will be 15  × 2 = 30.
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membrane by the process of

a) Active diffusion

b) Facilitated diffusion

c) Passive diffusion

d) Random diffusion
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The Major difference between the human cheek cells 
and onion peel cells is ______?
a) Presence of mitochondria in onion peel

b) Absence of plasma membrane in cheek cells

c) Cell wall presence in onion peel cells

d) Absence of endoplasmic reticulum in cheek cells
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